
SAP ABAP table TZT01 {Derivation rules for tax flows}

TZT01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SANLF [NUMC (3)]

LAND1 [CHAR (3)]

SBEWART1 [CHAR (4)]

SBEWART2 [CHAR (4)]

DGUEAB [DATS (8)]

T000

MANDT [CLNT (3)]
 TZT01-MANDT = T000-MANDT 

1

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 TZT01-BUKRS = T001-BUKRS 1

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 TZT01-LAND1 = T005-LAND1 
1

1

TZAF

SANLF [NUMC (3)]

 TZT01-SANLF = TZAF-SANLF 

0..N

1

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 TZT01-SBEWART1 = TZB0A-SBEWART 

0..N

{0,1}

 TZT01-SBEWART2 = TZB0A-SBEWART 

0..N

0..N


